First Names Candy Bars Detectives
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1. The person who bought the Twix is not Annabelle.
2. Of Valentina and Annabelle, one is sixth is line and the other loves Poirot mysteries.
3. Lucy is closer to the front of the line than Elena.

4. The 4 people were Valentina, the person who bought the Snickers, the one who is second in line, and the person
whose favorite detective is Sherlock Holmes.

5. Either the one who is sixth in line or the one who is seventh in line loves Miss Marple mysteries.
6. Lucy is closer to the front of the line than the person whose favorite detective is Miss Marple.

7. The person who bought the Snickers is not Elena.

8. The person whose favorite detective is Sam Spade bought the Snickers.

9. The one who is sixth in line bought the Baby Ruth.



